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Attempt any four questions. All questions carry equal marks.
Note that Questions 4, 5 and 6 also have internal choice.
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1. How do inequalities of power and wealth affect environmental valuation and
environmental time preference? Discuss.
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2. What are the limitations of the transaction costs approach in explaining cross-border
industrial organisation prevalent in the case of global value chains? Explain. Discuss
the different prototype global value chain governance patterns theorised by Gary
Gereffi and others.
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3. Discuss the view that the neoliberal state is an unstable political form. Explain the rise
of neoconservative ideology and practices in this context.
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4. (a) Synoptically trace the evolution of the Multinational Corporations (MNCs).
Explain the enabling structural features and the strategic implications of the fact that
product development and marketing replaced current production as the dominant
concern of the MNCs.

OR
(b) Explain the transformation in the nature of corporate governance from managerial



capitalism to investor capitalism. Discuss the changes in class configuration, tactical
changes and shifts in corporate ideology which enabled such a transformation.
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(a) Discuss the changes in the structures of production, consumption and spatial
organisation of economic activities that accompanied the transition from Fordist to the
Post-Fordist regimes.

OR

(b) Critically discuss the Neo-Smithian analysis of the transition from Fordism to Post-
Fordism. Discuss the contrary ways in which the term “flexibility” can be interpreted
in the context of Post-Fordist production and labour processes.
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(@) Analyse how gender has been a major element in the spatial dimension of
globalization, both in the construction of new spaces of production and in the new
patterns of international migration.

OR

(b) Analyse how globalization has heightened informal work, vulnerable employment
and economic insecurity. Do women generally face the brunt of these more than men?
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